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0" C of soil CO, (%o)
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I  Production Atmosphere (a)
Souree source

Calculated

0, = 14780 (-20.38- 4.4) - 380(-8-4.4)

1.0044(14780-380)
Soil CO, # 5 = 25 %

5= C(5. -4.4)-C(5-4.4)
1.0044(C  -C)

O = C_of 380 ppm; &, of -8 %o
‘ = C_of 14780 ppm; 0_of -20.17 %o

Jl = Production source of -25 %o

0'“C of Soil CO, (%o)
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I Production Atmosphere (b)
I source source

Calculated

5, = 14780 (-39.40 - 8.8) - 380(45.53-8.8)
1.0088(14780-380)
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- | # 5J = -50 %o
| Soil CO,
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I

5= C (5. -8.8)-C(5-8.8)

1.0088(C ~C,)
O = C_of 380 ppm; O_ of 45.53 %o

‘ = C,_ of 14780 ppm; 0_of -39.40 %o

J = Production source of -50 %o

AMCO'd of Soll C02 (%o)
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i source
] Calculated
i AJ= 14780 (-48.43 - 8.8) - 380(10-8.8)

" 1.0088(14780-380)
- INCORRECT

A = C(A -88)-C (A-8.8)
1.0088(C  -C)

() =C, of 380 ppm; A_ of 10 %o
@ -C. of 14780 ppm; A_ of -48.43 %o
B = Production source (-50) # A, (-58.26)
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